

Chap 6.

6.1

● 1            2                            MFR    PFR

$$-r_A = -\frac{1}{V} \frac{dN_A}{dt} = kC_A^n$$

MFR

$$\tau_m = \left( \frac{C_{A0}V}{F_{A0}} \right)_m = \frac{C_{A0}X_A}{-r_A} = \frac{1}{kC_{A0}^{n-1}} \frac{X_A(1+\epsilon_A X_A)^n}{(1-X_A)^n}$$

PFR

$$\tau_p = \left( \frac{C_{A0}V}{F_{A0}} \right)_p = C_{A0} \int_0^{X_A} \frac{dX_A}{-r_A} = \frac{1}{kC_{A0}^{n-1}} \int_0^{X_A} \frac{(1+\epsilon_A X_A)^n}{(1-X_A)^n} dX_A$$

MFR    PFR

$$\frac{(\tau C_{A0}^{n-1})_m}{(\tau C_{A0}^{n-1})_p} = \frac{\left( \frac{C_{A0}^n V}{F_{A0}} \right)_m}{\left( \frac{C_{A0}^n V}{F_{A0}} \right)_p} = \frac{\left[ X_A \left( \frac{1+\epsilon_A X_A}{1-X_A} \right)^n \right]_m}{\left[ \int_0^{X_A} \left( \frac{1+\epsilon_A X_A}{1-X_A} \right)^n dX_A \right]_p}$$

가                            ( $\epsilon_A = 0$ )

$$\frac{(\tau C_{A0}^{n-1})_m}{(\tau C_{A0}^{n-1})_p} = \frac{\left[ \frac{X_A}{(1-X_A)^n} \right]_m}{\left[ \frac{(1-X_A)^{1-n} - 1}{n-1} \right]_p} \quad n \neq 1$$

$$\frac{(\tau C_{A0}^{n-1})_m}{(\tau C_{A0}^{n-1})_p} = \frac{\left( \frac{X_A}{1-X_A} \right)_m}{-\ln(1-X_A)_p} \quad n = 1$$

1. MFR PFR  
가 가
2. 가 가
3. 가

●

, PFR

, MFR

6.2

PFR

6.2

●

PFR

N 가

\_\_\_\_\_  $F_0$  i

$$\frac{V_i}{F_0} = \int_{X_{i-1}}^{X_i} \frac{dX}{-r}$$

N

$$\frac{V}{F_0} = \sum_{i=1}^N \frac{V_i}{F_0} = \sum_{i=1}^N \int_{X_{i-1}}^{X_i} \frac{dX}{-r} = \int_0^{X_N} \frac{dX}{-r}$$

: PFR 가 V

가 V

6.1

Branch D	Branch E		Branch D	Branch E	V/F
가	Branch D	50liter	30liter	PFR	
Branch D	80liter		-	-	

●

MFR

PFR

가  
PFR

PFR

MFR

가

MFR

(1) 1 (ε<sub>A</sub> = 0)

\_\_\_\_\_ F<sub>0</sub> i

$$\tau_i = \frac{C_0(X_i - X_{i-1})}{-r_{Ai}} = \frac{C_{i-1} - C_i}{kC_i}$$

$$\frac{C_{i-1}}{C_i} = 1 + k\tau_i$$

$$\frac{C_0}{C_N} = \frac{1}{1 - X_N} = \frac{C_0}{C_1} \frac{C_1}{C_2} \dots \frac{C_{N-1}}{C_N} = (1 + k\tau_i)^N$$

$$\tau_i = \frac{\tau}{N}$$

$$\frac{C_0}{C_N} = \left(1 + k \frac{\tau}{N}\right)^N = \left[\left(1 + \frac{k\tau}{N}\right)^{N/k\tau}\right]^{k\tau}$$

N → ∞

$$\frac{C_0}{C_\infty} = \lim_{N \rightarrow \infty} \left[\left(1 + \frac{k\tau}{N}\right)^{N/k\tau}\right]^{k\tau} = e^{k\tau} \quad : \text{PFR}$$

- \_\_\_\_\_ MFR PFR

6.5

6.6

1

2

가

가

PFR

6.2

●

(1)

6.7

가

$$\tau_1 = \frac{V_1}{v} = \frac{C_0 - C_1}{(-r)_1}$$

$$-\frac{1}{\tau_1} = \frac{(-r)_1}{C_1 - C_0}$$

i

$$-\frac{1}{\tau_i} = \frac{(-r)_i}{C_i - C_{i-1}}$$

$$\begin{matrix} (-r) = kC^n \\ C_1 \cdots C_i \cdots C_n \\ 6.8 \end{matrix}$$

$C_i$     $C_{i-1}$

가  $-\frac{1}{\tau_i}$

(2)

MFR

가

$$\frac{\tau_1}{C_0} = \frac{X_1}{(-r)_1}$$

$$\frac{\tau_2}{C_0} = \frac{X_2 - X_1}{(-r)_2}$$

$$\min(\tau_1 + \tau_2) \\ X_1$$

$(\tau_1 + \tau_2)$     $X_1$

가

가

$$\frac{\partial(\tau_1 + \tau_2)}{\partial X_1} = 0$$

(3)

6.9

KLMN

가

(i)  $n > 1$

가

(ii)  $n < 1$

가

(iii)  $n = 1$

?

가

?

!

(4)

6.12

$\min(\tau_1 + \tau_2 + \tau_3)$

$$\frac{\tau_1}{C_0} = \frac{X_1}{(-r)_1}, \quad \frac{\tau_2}{C_0} = \int_{X_1}^{X_2} \frac{dX}{(-r)}, \quad \frac{\tau_3}{C_0} = \frac{X_3 - X_2}{(-r)_3}$$

$$\frac{\partial(\tau_1 + \tau_2 + \tau_3)}{\partial X_1} = 0, \quad \frac{\partial(\tau_1 + \tau_2 + \tau_3)}{\partial X_2} = 0$$

(5)

(i)  $n > 0$

$n > 1$

가

( PFR-sMFR-IMFR),  $n < 1$

가

(

IMFR-sMFR-PFR)

(ii)

-